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QUADRILATERALS

Solved Examples

1. The angles of a quadrilateral are in the ratio  Find all

its angles.

Watch Video Solution

3: 4: 5: 6.

2. Three angles of a quadrilateral are in the ratio  If the

fourth angle is  find the three angles of the quadrilateral.

4: 6: 3.

100∘

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_zt0dP4h8bzUu
https://dl.doubtnut.com/l/_hKXUzpKvTy8i


Watch Video Solution

3. The angles of a quadrilateral are in the ratio  Show

that it is a trapezium.

Watch Video Solution

4: 3: 6: 5.

4. The side BA and DC of a quadrilateral ABCD are produced to E

and F respectively. If




 


Watch Video Solution

∠BCF = a0, ∠ABC = x ∘ , ∠ADC = y ∘ and ∠DAE = b∘ ,

prove thatx + y = a + b.

https://dl.doubtnut.com/l/_hKXUzpKvTy8i
https://dl.doubtnut.com/l/_6GfJ8yv4bD8a
https://dl.doubtnut.com/l/_9MOtXyJUj76V


5. In a rectangle ABCD, diagonals AC and BD intersect at O. If

 find : 


Watch Video Solution

∠OAB = 35∘ ,

(a)∠ABC(b)∠ABO(c)∠COD(d)∠BOC)

https://dl.doubtnut.com/l/_9MOtXyJUj76V
https://dl.doubtnut.com/l/_GsqRAJUCS2Kg


6. In the given figure, ABCD is a square. Find x. 

Watch Video Solution

7. In quadrilateral 
 are the bisectors of 


respectively. Prove that 

Watch Video Solution

ABCD,  AO and BO

∠A and ∠B ∠AOB = (∠C + ∠D).
1

2

https://dl.doubtnut.com/l/_shy7Z2jbOTI0
https://dl.doubtnut.com/l/_4ToX3s8MKxgl


8. In a parallelogram ABCD, the bisectors of  intersect

each other at point P. Prove that 

Watch Video Solution

∠A and ∠B

∠APB = 90∘ .

9. Find the remaining angle of a parallelogram if one of its angles is

Watch Video Solution

110∘ .

10. PQRS is a parallclogram such that PQ is parallel to SR and SP is

parallel to RQ. The length of side PQ is 20 cm. M is point between P

and Q such that the length of PM is 3 cm. N is a points between

points S and R. Find the length of SN such that segmen MN divides

https://dl.doubtnut.com/l/_4ToX3s8MKxgl
https://dl.doubtnut.com/l/_TMIsy0XsD3O5
https://dl.doubtnut.com/l/_zcGs0CNfZcYT
https://dl.doubtnut.com/l/_pYyaHsrVksHq


the paralelogram in two regions with equal areas. 

Watch Video Solution

11. In the given figure, ABCD is a parallelogram in which AN and CP

are perpendiculars on diagonal BD. Prove that : 

(i)  
ΔADN = ΔCBP

https://dl.doubtnut.com/l/_pYyaHsrVksHq
https://dl.doubtnut.com/l/_vsAzo8DbkdkB


 


Watch Video Solution

(ii)AN = CP

12. ABCD is a quadrilateral in which AB||DC and AD = BC. Prove that

.

Watch Video Solution

∠A = ∠B and ∠C = ∠D

https://dl.doubtnut.com/l/_vsAzo8DbkdkB
https://dl.doubtnut.com/l/_KjnLEbOdth5y


13. In the adjoining figure,  are two

parallelograms. Prove that : 

 


Watch Video Solution

□ ABCD and □ APQR

∠C = ∠Q and ∠B = ∠R

14. In the given figure, ABCD is a parallelogram. If DM  AC and

BN  AC, then show that  is a parallelogram. 


□ ⊥

⊥ □ BNDM

https://dl.doubtnut.com/l/_3teQl80vtzFE
https://dl.doubtnut.com/l/_krBllOwLvZpw


Watch Video Solution

15. In a 
median 
is produced to 
such that 
 .

Prove that 
is a parallelogram.

Watch Video Solution

ABC AD X AD = DX

ABXC

16. ABCD is a parallelogram. Two points P and Q are taken on sides

AD and BC respectively such that AP 

Prove that  is a parallelogram.

AD and CQ = BC.
1

3

1

3

□ AQCP

https://dl.doubtnut.com/l/_krBllOwLvZpw
https://dl.doubtnut.com/l/_AtU3cNQnk1rP
https://dl.doubtnut.com/l/_oJ5OgpXtIMHt


Watch Video Solution

17. A cyclic polygon has n sides such that each of its interior angle

measures  What is the measure of he angle subtended by

each of its sides at the geometrical centre of the polygon?

Watch Video Solution

114∘ .

18. The number of diagonals of a regular polygon is 27. Then, find

the measure of each of the interior angles of the polygon.

Watch Video Solution

19. 
 is the mid-point of side 
 of a parallelogram 
 . A

Line through 
parallel to 
meets 
at 
and 
produced

at 
. Prove that (i) 
(ii) 

P AB ABCD

B PD DC Q AD

R AR = 2BC BR = 2BQ.

https://dl.doubtnut.com/l/_oJ5OgpXtIMHt
https://dl.doubtnut.com/l/_A68ymd8Prj29
https://dl.doubtnut.com/l/_v4YkFBz20aDV
https://dl.doubtnut.com/l/_99H1moEzLiBg


Watch Video Solution

20. L and M are the mid-points of sides AB and DC respectively of

parallelogram ABCD. Prove that segments DL and BM trisect

diagonal AC.

Watch Video Solution

21. In the adjoining figure D, E and F are the mid-points of the sides

BC, CA and AB of the equilateral  Prove that  is alsoΔABC. ΔDEF

https://dl.doubtnut.com/l/_99H1moEzLiBg
https://dl.doubtnut.com/l/_6L5Fp2ZvXXwC
https://dl.doubtnut.com/l/_JZ6PPQ2GElZz


an equilateral triangle. 

Watch Video Solution

22. In the given figure. ABCD is a trapezium in which AB|| DC and E is

the mid-point of AD, if EF||DC, then show that

https://dl.doubtnut.com/l/_JZ6PPQ2GElZz
https://dl.doubtnut.com/l/_YZQGBQN8INZG


. 


Watch Video Solution

EF = (AB + DC)
1

2

23. If the mid -point of the consecvitve sides of any quadrilateral

are connected by staight line segments, prove that the resulting

quadrilteral is a parallelogram .

Watch Video Solution

https://dl.doubtnut.com/l/_YZQGBQN8INZG
https://dl.doubtnut.com/l/_I38Xc6BT7WTd


24. The diagonals of a quadrilateral ABCD are mutually

perpendicular . Prove that the quadrilateral formed by joining the

mid-points of its consecutive sides is a reactangle. 

Watch Video Solution

https://dl.doubtnut.com/l/_vXeN9rWgGrKC


25. The figure formed by
 joining the mid-points of the adjacent

sides of a rectangle is
square (b) rhombus
(c) trapezium (d)
none of

these

Watch Video Solution

26. Show that the
line segments joining the mid-points of opposite

sides of a
quadrilateral bisects each other.

Watch Video Solution

27. Prove by vector method that the line segment
 joining the mid-

points of the diagonals of a trapezium is parallel to the
 parallel

sides and equal to half of their difference.

Watch Video Solution

https://dl.doubtnut.com/l/_j2dUItjqTtP8
https://dl.doubtnut.com/l/_sYOtJbE2ynMY
https://dl.doubtnut.com/l/_7hgoYuU7BBo0
https://dl.doubtnut.com/l/_JjXSQVKC16if


28. In the adjoining figure. AD and BE are two medians of  

 


Watch Video Solution

ΔABC.

IfDF ||BE, then prove thatCF = AC.
1

4

29. In the adjoining figure, PQRS is a parallelogram. A and B are the

mid-points of PQ of SR respectively. If PS= BR, then prove that

https://dl.doubtnut.com/l/_JjXSQVKC16if
https://dl.doubtnut.com/l/_qP1Yy2ju0nJF


Problems From Ncert Exemplar

quadrilateral ADBC is a reactangle. 

Watch Video Solution

1. Show that if the diagonals of a quadrilateral bisect each other at

right angles, then it is a rhombus.

Watch Video Solution

https://dl.doubtnut.com/l/_qP1Yy2ju0nJF
https://dl.doubtnut.com/l/_lKaIOxWTcuCn


2. Diagonal AC of a paraleligram ABCD bisects  (sec figure). Show

that: 

(i) it bisects  also (ii) ABCD is a rhombus. 


Watch Video Solution

∠A

∠C

3. ABCD is a rectangle in which diagonal AC bisects  as well as

 Show that 


∠A

∠C.

https://dl.doubtnut.com/l/_24P45eJP6q1t
https://dl.doubtnut.com/l/_2pXJketJA49L


(i) ABCD is a square 

(ii) diagonal BD bisects  

Watch Video Solution

∠B

4. In parallelogram ABCD two points P and Q are taken on diagonal

BD such that DP = BQ (set figure). Show that: 

https://dl.doubtnut.com/l/_2pXJketJA49L
https://dl.doubtnut.com/l/_JoJylDP3lXVm


 ltbegt 

Watch Video Solution

(i)ΔAPD ≅CQB (ii)AP = CQ

(iii)ΔAQB ≅ΔCPD (iv)AQ = CP

(v)APCQis a parallelogram.

5. P, Q, R and S are respectively the mid-points of the sides AB, BC,

CD and DA of a quadrilateral ABCD such that AC  BD. Prove that

PQRS is a rectangle.

Watch Video Solution

⊥

https://dl.doubtnut.com/l/_JoJylDP3lXVm
https://dl.doubtnut.com/l/_kDhmoWXJpHNv


6. Show that the
 line segments joining the mid-points of the

opposite sides of a quadrilateral
bisect each other.

Watch Video Solution

7. Through A, B and C lines RQ, PR and QP have been drawn,

respectively parallel to sides BC, CA and AB of a ABC as shown inΔ

https://dl.doubtnut.com/l/_7I3Z4V28LAXX
https://dl.doubtnut.com/l/_UmiNoVoOiH7p


figure. Show that . 


Watch Video Solution

BC = QR
1

2

8. In figure, P is the mid-point of side BC of a parallelogram ABCD

such that . Prove that AD = 2CD.∠BAP = ∠DAP

https://dl.doubtnut.com/l/_UmiNoVoOiH7p
https://dl.doubtnut.com/l/_MRfyzev4U1cA


Watch Video Solution

9. P and Q are the mid-point of the opposite sides AB and CD of a

parallelogram ABCD. AQ intersects DP at S and BQ intersects CP at

https://dl.doubtnut.com/l/_MRfyzev4U1cA
https://dl.doubtnut.com/l/_CNiKqbpHceGF


R. Show that PQRS is a parallelogram. 

Watch Video Solution

10. In figure, AB||DE, AB=DE, AC||DF and AC=DF. Prove that BC||EF and

BC=EF. 

https://dl.doubtnut.com/l/_CNiKqbpHceGF
https://dl.doubtnut.com/l/_TIhACaSS1P1Y


Watch Video Solution

11. Prove that the quadrilateral formed by the bisectors of the

angles of a parallelogram is a rectangle. 

Watch Video Solution

https://dl.doubtnut.com/l/_TIhACaSS1P1Y
https://dl.doubtnut.com/l/_PKDx5JK5aAZH


Exercise 8 A

1. The angles of a quadrilateral are  If the other two

angles are equal, find the equal angles.

Watch Video Solution

89∘ and 113∘

2. In eqadrilateral ABCD,

Watch Video Solution

∠A = 100∘ , ∠B = 70∘ and ∠C : ∠D = 8: 11, then fine∠D.

3. In quadrilateral ABCD, side AB is parallel to side DC. If

. 
∠A : ∠D = 1: 2 and ∠C : ∠B = 4: 5

https://dl.doubtnut.com/l/_PKDx5JK5aAZH
https://dl.doubtnut.com/l/_Kdz4GqRGmF4I
https://dl.doubtnut.com/l/_h1DJVihkWeli
https://dl.doubtnut.com/l/_uw4kQoFYoYPi


(i) Calculate each angle of the quadrilateral. 

(ii) Assign a special name to quadrialateral ABCD.

Watch Video Solution

4. Find the values of x and y from adjoining parallelogram. 

Watch Video Solution

https://dl.doubtnut.com/l/_uw4kQoFYoYPi
https://dl.doubtnut.com/l/_3GmmXVEHsYX3


5. Find x,y and z in each of the following figure: 

Watch Video Solution

6. In the given figure, find  
(i)∠XOD(ii)∠XOC

https://dl.doubtnut.com/l/_6kPAQIBkVaxA
https://dl.doubtnut.com/l/_qs3GiTwZkYVi


Watch Video Solution

7. In the given figure, ABCD is a square and

 prove that. 


(i) QB = RC 

(ii) PQ = QR 

(iii)  


Watch Video Solution

∠PQR = 90∘ . IfPB = QC = DR,

∠QPR = 45∘

https://dl.doubtnut.com/l/_qs3GiTwZkYVi
https://dl.doubtnut.com/l/_B6JzEq4Q7dbF


8. In a square ABCD, diagonals meet at O. P is point on BC such that

OB = BP.Show that (i)  


(ii)  


(iii) 

Watch Video Solution

∠POC = (22 )
∘1

2

∠BDC = 2∠POC

∠BOP = 3∠COP

9. The give figure shows a square ABCD and an equilayeral teiangle

APB. Calculate : 

https://dl.doubtnut.com/l/_B6JzEq4Q7dbF
https://dl.doubtnut.com/l/_TSlRkp15Wz9f
https://dl.doubtnut.com/l/_r7lNZ6ytw64K


 


Watch Video Solution

(1)∠AOB (ii)∠BPC

(iii)∠PCD (iv)reflex∠APC

10. In the given figure, ABCD is a rohombus with  If DEC is

an equilateral triangle, calculate 

(i)  


A = 67∘ .

∠CBE

https://dl.doubtnut.com/l/_r7lNZ6ytw64K
https://dl.doubtnut.com/l/_BNMjjSgTKftn


(ii)  


Watch Video Solution

∠DBE

11. If the adjacent angles of a parallelogram are in the ratio 

Find all the angles of parallelogram.

Watch Video Solution

: .
1

3

1

2

https://dl.doubtnut.com/l/_BNMjjSgTKftn
https://dl.doubtnut.com/l/_2jin4hhimR23


12. Prove that the sum of two consecutive angles of a parallelogram

is 

Watch Video Solution

180∘ .

13. One angle of a parallelogram is  Find its remaining angles.

Watch Video Solution

60∘ .

14. One diagonal of a parallelogram biscets its one of the angles.

Show tht it will also bisec the opposite angle.

Watch Video Solution

https://dl.doubtnut.com/l/_2jin4hhimR23
https://dl.doubtnut.com/l/_EhSRm1uYe9H2
https://dl.doubtnut.com/l/_9hlWYXsdlBU4
https://dl.doubtnut.com/l/_poaXwLCrbX8o


15. The opposite angles of a parallelogram are

 Find each angle of the parallelogram.

Watch Video Solution

(3x − 2) ∘ and (150 − x) ∘ .

16. In the adjoining figure, ABCD is a parallelogram. If

 


 


Watch Video Solution

∠ABC = 125∘ ,

∠ACD = 28∘ , then fine∠DAC.

https://dl.doubtnut.com/l/_U6I33pvAPZYj
https://dl.doubtnut.com/l/_jRye91A6sYzq


17. In a parallelogram, one angleis twice of its consecutiv angle.

Find all the angles of the parallelogram.

Watch Video Solution

18. In a parallelogram ABCD, AX and CY are the bisectors of

 respectively. Prove that 

Watch Video Solution

∠A and ∠C AX||CY .

19. In a parallelogram PQRS, PX and QY are the perpendiculars

drawn from P and Q respectively so SR and SR produced. Prove that

PX= QY.

Watch Video Solution

https://dl.doubtnut.com/l/_rj47U2OoqK5m
https://dl.doubtnut.com/l/_0ewwxSPMWCVJ
https://dl.doubtnut.com/l/_fOQ51TQpRy4E


20. In a parallelogram ABCD, the bisector of  bisects the line B at

point X. Prove that AD = 2AB.

Watch Video Solution

∠A

21. In a parallelogram ABCD,  If the bisectors AP and

BP of  respectively, meet the side CD at point P, then

prove that CP = PD.

Watch Video Solution

∠BCD = 60∘

∠A and ∠B

22. In the adjoining figure,  is formed by the sides PQ, QR

and RP which are drawn parallel to sides AB,BC and CA respectively

of  Prove that 


ΔPQR

ΔABC.

https://dl.doubtnut.com/l/_7M5xy0Hr4C4E
https://dl.doubtnut.com/l/_ZqYArPBDWT1Q
https://dl.doubtnut.com/l/_4u47ZSYAL15n


 


Watch Video Solution

          PQ + QR + RP = 2(AB + BC + CA).

23. X and Y are the mid-points of the opposite sides AB and DC of a

parallelogram ABCD. Prove that  is a parallelogram.

Watch Video Solution

□ AXCY

https://dl.doubtnut.com/l/_4u47ZSYAL15n
https://dl.doubtnut.com/l/_9MmTe0i7ihEx
https://dl.doubtnut.com/l/_9PsShwRLh7dK


24. Two points X and Y lie on the diagonal BD of a parallelogram

ABCD such that DX = BY. Prove that  is a parallelogram.

Watch Video Solution

□ AXCY

25. In the adjoining figure,  is an isosceles triangle in which

AB = AC. Side CP is parallel to AB and AP is the bisector of exterior

angle CAD of  ABC. Prove that 

ΔABC

Δ ∠PAC = ∠BCA and □ ABCP

https://dl.doubtnut.com/l/_9PsShwRLh7dK
https://dl.doubtnut.com/l/_GaiYVkYng2nl


is a parallelogram. 

Watch Video Solution

26. AB and CD are two parallel lines and a transversal 'l' intersects

these lines at X and Y respectively Prove that the bisectors of

interior angles from a parallelogram whose each angle is 

Watch Video Solution

90∘ .

https://dl.doubtnut.com/l/_GaiYVkYng2nl
https://dl.doubtnut.com/l/_EXQMDI6emhD7


27. In the adjoining figure  is a parallelogeam. Points X

and Y lie on the sides AD and BC respectively and

 Show that  is a

parallelogram. 

Watch Video Solution

□ ABCD

AX = AD and CY = BC.
1

4

1

4
□ XBYD

28. In the adjoining figure, ABCDEF is a regular hexagon. Prove that

 are parallelograms. 
□ ABDE, □ ACDF and □ AGDH

https://dl.doubtnut.com/l/_EXQMDI6emhD7
https://dl.doubtnut.com/l/_MD5KFvWYv5D2
https://dl.doubtnut.com/l/_oyb3sdK6IlAC


Exercise 8 B

Watch Video Solution

29. Two triangles  are given such that 

"Show

that"AC"||"DFandAC=DE`

Watch Video Solution

ΔABC and ΔDEF

AB||DE, BC||EF and AB = DE, BC = EF .

https://dl.doubtnut.com/l/_oyb3sdK6IlAC
https://dl.doubtnut.com/l/_BepK4FgCaAbk


1. The sides AB and AC are equal of an isosceles triangle ABC. D E

and F are the mid-points of sides BC, CA and AB respectively. Prove

that: 

(i) Line segment AD is perpedicular to line segment EF. 

(ii) Line segment AD bisects the line segment EF.

Watch Video Solution

2. Show that the quadrialteral formed by joining the mid-points of

the consecutive sides of a rhombus, is a rectangle.

Watch Video Solution

3. E is the mid-point of the median AD of  Line segment BE

meets AC at point F when produce, prove that 

ΔABC.

AF = AC.
1

3

https://dl.doubtnut.com/l/_ymM8La5NE4zr
https://dl.doubtnut.com/l/_FpAJTWj3PPxq
https://dl.doubtnut.com/l/_kU5OD9wLKAZi


Watch Video Solution

4. Show that the quadrilateral, formed by joining the mid-points of

the sides of a square is also a square.

Watch Video Solution

5. Show that, in a parallelogram ABCD, the internal and external

bisectors of  from a rectangle.

Watch Video Solution

∠A and ∠B

6. If the mid -point of the consecvitve sides of any quadrilateral are

connected by staight line segments, prove that the resulting

quadrilteral is a parallelogram .

Watch Video Solution

https://dl.doubtnut.com/l/_kU5OD9wLKAZi
https://dl.doubtnut.com/l/_keyndhTWJqNS
https://dl.doubtnut.com/l/_sThw4s3KZhQX
https://dl.doubtnut.com/l/_uBTww08PLaGV


7. In a right-angled triangle  and D is mid-

point of AC. Prove that .

Watch Video Solution

ABC, ∠ABC = 90∘

BD = AC
1

2

8.  is a reactangle. If A, B and C are the mid-points of PQ,

PS and QR respectively, then prove that 

Watch Video Solution

□ PQRS

AB + AC = (PR + SQ).
1

2

9. 
 and 
 are, respectively, the mid-points of sides 

and 
of a triangle 
 , 
 and 
 meet at 
 and 

meet at 
. Prove that 

Watch Video Solution

P , Q R BC, CA

AB ABC PR BQ X
.

CR PQ

Y XY = BC.
1

4

https://dl.doubtnut.com/l/_uBTww08PLaGV
https://dl.doubtnut.com/l/_qlVetz8l4Bya
https://dl.doubtnut.com/l/_alo7P7sOhcku
https://dl.doubtnut.com/l/_UJOUgwNWMvP5


10. In  and S is the mid-point of PQ. A line drawn

from S parallel to QR, intersects the line PR at T. Prove that PS = PT.

Watch Video Solution

ΔPQR, Pq = PR

11. M and N divide the side AB of a triangle ABC into three equal

parts . Through M and N, lines are drawn parallel to BC and

intersecting AC at points P and Q respectively. Prove that P and Q

divide AC into three equal parts.

Watch Video Solution

12. In the adjoining figure, two points A and B lie on the same side

of a line 'l'. C is the mid-point of AB. If AD  then⊥ l and BE ⊥ l,

https://dl.doubtnut.com/l/_UJOUgwNWMvP5
https://dl.doubtnut.com/l/_rsBpq93tlZbl
https://dl.doubtnut.com/l/_3ZsrP9qFHOfU
https://dl.doubtnut.com/l/_goaprBwrv13B


prove that CD = CE. 

Watch Video Solution

13. AB and CD are the parallel sides of a trapeziuml. E is the mid-

point of AD. A line through E and parallel to side AB meets the line

BC at point F. Prove that F is the mid-point of BC.

Watch Video Solution

14. Prove that a line drawn from the vertex of a triangle to its base

is bisected by the line joining the mid points of the remaining two

https://dl.doubtnut.com/l/_goaprBwrv13B
https://dl.doubtnut.com/l/_6xaZC0NYZzXC
https://dl.doubtnut.com/l/_tH3mg57DqU9W


Revision Exercise Very Short Answer Questions

sides of the triangle.

Watch Video Solution

15. In a parallelogram ABCD, E and F are the mid-points of sides BC

and AD respectively. Show that the line segment BF and ED trisect

the diagonal AC.

Watch Video Solution

1. Three angles of aquadrilateral are respectively 

Find the fourth angle.

Watch Video Solution

90∘ , 91∘ , 69∘ .

https://dl.doubtnut.com/l/_tH3mg57DqU9W
https://dl.doubtnut.com/l/_TXZ8uG7FqGdF
https://dl.doubtnut.com/l/_OdRWLgiG9RZP
https://dl.doubtnut.com/l/_JtUexbAcmFtx


2. Find the other angles of a parallelogram if its one angle is 

Watch Video Solution

60∘

3. Find the angles of the parallelogram ABCD, if 

Watch Video Solution

∠C = ∠D
2

3

https://dl.doubtnut.com/l/_JtUexbAcmFtx
https://dl.doubtnut.com/l/_dhLTjXyxfZOY


4. Find  of the given figure. 

Watch Video Solution

∠A

5. In the given figure, if ABCD is a rectangle and  find x

and y. 

x : y = 2: 7

https://dl.doubtnut.com/l/_4UERDsADbUyV
https://dl.doubtnut.com/l/_CRIokSijc3EC


Watch Video Solution

6. In a  are respectively the mid-points of BC,

CA and AB. If the lengths of side AB, BC and CA are 7 cm, 8 cm and 9

cm respectively, find the permeter of 

Watch Video Solution

ΔABC, D, E and F

ΔDEF .

7. If the bisectors of two
 adjacent angles 
 of a

quadrilateral 
 intersect at a point 
 such that 

A and B

ABCD O

https://dl.doubtnut.com/l/_CRIokSijc3EC
https://dl.doubtnut.com/l/_uT5ai9pPC7ae
https://dl.doubtnut.com/l/_5WK8H3rrxfzG



then find the value of .

Watch Video Solution

∠C + ∠D = k∠AOB, k

8. In the given figure PQRS is an isosceles trapezium, fixd x and y. 

Watch Video Solution

9. In a rhombus ABCD if  then fine 

Watch Video Solution

∠ACB = 40∘ , ∠ADC.

https://dl.doubtnut.com/l/_5WK8H3rrxfzG
https://dl.doubtnut.com/l/_sr0f6K3s37ef
https://dl.doubtnut.com/l/_JY6gCdhqra9P


Revision Exercise Short Answer Questions

10. The diagonals of a
 parallelogram 
 intersect at 
 . If 


 then 
 (a) 
 (b)


(c)
 
(d)


Watch Video Solution

ABCD O

∠BOC = 900 and ∠BDC = 500, ∠OAB = 400 500

100 900

1. In an isosceles-trapezium, show that the opposite angles are

supplementary.

Watch Video Solution

2. In the given figure ABCD is a parallelogram. AB = (2x+25) cm, CD =

(3x+14) cm,

https://dl.doubtnut.com/l/_JY6gCdhqra9P
https://dl.doubtnut.com/l/_knR2Ng0mz2Lg
https://dl.doubtnut.com/l/_5rM5r3hw3Cf2
https://dl.doubtnut.com/l/_hvz0EnRCA2Fs


find the values of x, y and z. 

Watch Video Solution

∠B = zo, ∠BAC = 24∘ , ∠DAC = 3y + 5∘ and ∠DCA = y + 9∘ ,

3. ABCD is a parallelogram and AE and CF bisect 

respectively. Prove that  


∠A and ∠C

AE||FC.

https://dl.doubtnut.com/l/_hvz0EnRCA2Fs
https://dl.doubtnut.com/l/_Q7SED2ZSyUgc


Watch Video Solution

4. In the given figure, AM bisects angle A and DM bisects angle D of

parallelogram ABCD. Prove that  
∠AMD = 90∘ .

https://dl.doubtnut.com/l/_Q7SED2ZSyUgc
https://dl.doubtnut.com/l/_DTVNOGij9DDf


Watch Video Solution

5. In the given figure ABCD is a parallelogram. Prove that AB = 2BC. 

Watch Video Solution

6. E and F are points on diagonal AC of a parallelogram ABCD such

that AE=CF. Show that BFDE is a parallelogram.

Watch Video Solution

https://dl.doubtnut.com/l/_DTVNOGij9DDf
https://dl.doubtnut.com/l/_0P472mYFzSBT
https://dl.doubtnut.com/l/_tfs9peV2A9u2
https://dl.doubtnut.com/l/_TfbQbQnCXbj7


7. In a quadrilateral ABCD, AB= AD and CB= CD. Prove that: 

AC is perpendicular bisector of BD

Watch Video Solution

8. In the adjoining figure, ABCD is a rhombus and ABE is an

equilateral triangle. If  find 


 


Watch Video Solution

∠BCD = 70∘ ,

(a)∠ADE   (b)∠BDE   (c)∠BED

https://dl.doubtnut.com/l/_TfbQbQnCXbj7
https://dl.doubtnut.com/l/_zZgEXGVOHXzY


Revision Exercise Long Answer Questions

9. In a trapezium ABCD, if E and F be the mid-points of diagonal AC

and BD respectively. Prove that  


Watch Video Solution

EF = (AB − CD).
1

2

10. In a quadrilateral ABCD the linesegment bisecting 

meet at E. Prove that 

Watch Video Solution

∠C and ∠D

∠A + ∠B = 2∠CED.

https://dl.doubtnut.com/l/_aEnd3yim309q
https://dl.doubtnut.com/l/_A8cPUAnP3Hvu


1. In the adjoining figure, ABCD and PBCQ are paralelograms. Prove

that 

 


Watch Video Solution

ΔABP ≅ΔDCQ

2. A transverals cuts two parallel lines at A and B. The two interior

angles at A are bisected and so are the two interior angles at B, the

https://dl.doubtnut.com/l/_jrA4kuDeOjKl
https://dl.doubtnut.com/l/_yZbBqhxa46Le


four bisectors from a quadrilateral ACBD, prove that ABCD is

parallelogram.

Watch Video Solution

3. Prove that the quadrilateral formed by the bisectors of the

angles of a parallelogram is a rectangle. 

Watch Video Solution

https://dl.doubtnut.com/l/_yZbBqhxa46Le
https://dl.doubtnut.com/l/_yMGRBT1ctcOm


4. In a square ABCD, A is joined to a point X on BC and D is joined to

a point Y on AB. If AX = DY, prove that AX is perpendicular to DY. 

Watch Video Solution

5. ABCD is a rhombus. RABS is a straight line such that RA = AB = BS.

Prove that RD and SC when produced meet at right angles.

Watch Video Solution

https://dl.doubtnut.com/l/_qvwmk4VNwCqf
https://dl.doubtnut.com/l/_6H3mhDViwsjA



